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o. A triangle has squares

PFC"\C‘;?C&’L @LL@S“H@Y@ on each of its sides. /\
1. mch number is a perfect square? - ay Ieithe qiaﬂgle a 36 cm?
- -‘10 B 20 right triangle? 16 cm2
¢ o0 i b) What is the length 116 cm
: [.th
2. What is the side length of the square in of eac}:'tdoL, ; ~e
the diagram? ) three sides:
10. Is the triangle a W=
right triangle? V15 o _
- Explain. . , X=39am
o 8mmt B S - N B
11. The table shows the side lengths of four
triangles. Which triangles are right angled?
A 6mm ° 2 mm Triangle | Sidex Side y Side z
¢ 12 mm D 18 mm N 3 o s
- B | s 3 7
3. A square has a side length of 7 cm. 2 > v =
1 ; ?
W};j_c i tfle s ofthe Zq;a]i:e. 2 D 30000 40000 50000
A cm cm .
C 28 cm? D 49 cm?

8. Thelegs of a rlght tnangle measure 3 cm
4. A right triangle has squares on each of its and 7 cm.

sides. What is the area of the blue square? 2) Use a calculator to determine the

- approximate length of the hypotenuse,
! mL / to the nearest tenth of a centimetre.
7 \\ L b) Explain why the length is an
\zm \[ ‘ approximation both before and afrer
W you round the answer.
A 4 m? . B 14 m? 9. The rectangular pool at Wild Water
C 16 m? D .28 m? ~ World has a length that measures 15 m
and a diagonal that measures 17 .
5. The value of VST is closest 1o Wh1ch A float line divides the shallow end and
whole number? deep end. What is the length of the
A 7 - float line?
¢ 49 p 51 \\‘\\
14. Find the missing side length of , It .
each trangle. mes
a) i \\\\
'-.,\‘ 15m
c=12m \d '
' 7. What is the height of

the wheelchair ramp?
Give your answer to :
the nearest tenth of a centimetre.
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monitor is based o the length of the - . &+ -

1. Use the Pythagorean rellationsbj%p to diagonal of the sreen. Ha thinks that the
determine whether a triangle with sides diagonal is not as large 25 the ad says. Is
of 14 mm, 48 mm, and 50 mm is a right he correct? Explain.
triangle. Show your work. -

GREAT DEAL

12. Josie skated 42-crm monitor
diagonally across a % _ on salel
rectangular ice rink. >
Hanis skatingalong | ™ 5n
two sides of the rink % S
and has just reached % o _
the first corner. How 20m | 9. A checkerboard is made of 64 small
much farther does : ) . squares that each have a dimension of
he have to skate to meet up with Josie? 3'cm x 3 cm. The 64 small squares are

arranged in eight rows of eight.

a) What is the length of the diagonal of a
small square? Give your answer to the
nearest tenth of a centimetre.

Extended Response
13. Determine the perimeter of AABC.

A 13 em : ' b} What is the total length of the diagonal
5cm of the board? Give your answer to the
i nearest centimetre.
San
10. A gymnast requires a
c / distance of 16 m for
, : her tumbling routine.
14. A carpenter’s square is a tool in the shape - If the gymnast is
of a right triangle. Joe thinks there may ' competing on a
be something wrong with the onehe 12m x 12 m square
bought. Determine whether the carpenter’s mat, does she have
square shown'is z right triangle. Explain enough room to do
your reasoning. her routine safely?-

Explain your answer.

16. A 4-m ladder is being used
for a production of Romeo
and Juliet. The bottom of
the ladder will be placed
1 m from the base of Juliét’s

- house. Will the ladder reach
the window? Show your
work.

- 4. Find the height of the pole
" where the guy wire is
attached, to the nearest
tenth of a metre.

17. Yosef wants to buy a
hutch. It must it in
the 90° corner of his
dining room. Yosef
measures as shown.

5. Martin measured a rectangle and wrote:

Widthi T cm .Lm@‘c\f\: 29 cr D'maona\: 153 cn What should his
Could these measurements form a measurement be?
rectangle? Justify your answer. ' Give your answer to

the nearest tenth of
a centimetre.



